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Homework 
 

1 Find ݀ݔ݀ݕ if ݕ = ඥ݁ଷ௫య sin ఱݔ
 9  October  1998

2 

Use logarithmic differentiation to find  ݂′(ݔ), where 

12  July  2000 A݂(ݔ) = ݔ√ + 1య sec ݔ√ݔ sin ݔ  

3 Find ݀ݔ݀ݕ if ݕ = ݔ) + ln ହݔ)(ݔ + ݔ√ଵ଴(ݔ7 + 11  5  October  1996

4 Find ݕ′ if ݕ = ଷݔ√ + ఱݔ2 ଶݔ) + 1)଺√1 − +ଷయݔ ln|ݔସ − ݁௫|. 3  Nov.  1994

5 

.   Use logarithmic differentiation to find  ݂′(ݔ), where 

4  July  1996ݕ = ସݔ5 ) − ݔ3 )ଷ secଶ (௫మାଵ)݁ݔ √1 + ଶయݔ  

6 Find ݕ′ if ݕ = ݔ√ + 1య logହ(ݔଶ + 1)(1 + ln ଶ(ݔ ݁ଵି√௫  15  July  2003 A

7 Find ݀ݔ݀ݕ if ݕ = (1 + ଶ)௫ 19  March  2006 Aݔ

8 Find ݀ݔ݀ݕ if ݁ݕ௫௬ − ln(1 + (ଶݕଶݔ = ݕ3 − ହ 19  March  2006 Aݔ6

9 Find ݕ′ if ݕ = ൣlogହ൫√ ݔ + 1൯൧୲ୟ୬ ௫
 

10 Find ݕ′ if ݕଶ − ln ൬ݕݔ൰ − ݔ4 = −3 
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